12 - 47 = 564 12-4,7 =564

1,2-47= 56,4

0,12 -47 = 5,64

1,2-4,7= 5,64

0,12 - 4,7 = 0,564

12 :0,47 = 5,064
0,012 - 47 : 0,56



13-4= 52
1,3:-4= 5.2
0,13-4= 0,52
13-0,4= 52

13 - 0,04 =0,52
1,3-0,4=0,52

1,3 0,04 =0,052
0,13 - 0,4 = 0,052
0,13 - 0,04 = 0,0052




15-6= 90
0,15-6= 0,9

1,5 - 0,006 = 0,009
0,15 - 0,06 = 0,009
0,015 - 6 = 0,09
0,015 - 0,06 = 0,0009
0,15 - 0,006 = 0,0009
0,00015 - 6 = 0,0009
15 - 0,0006 = 0,009




306 - 34 =12 104
3,00 - 3,4 = 12,104
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74 - 625 =46 250
0,074 - 6,25 = 0,4625

<H) 1)
"\

46250

0



